Chiffres qui1 Somment a 10 (H)

Remplissez les espaces vides.

1+9= 3+7= S5+5= 2+8=
2+8= 6+4= 1+9= 3+7=
2+8= 7+3= 9+1= 5+5=
3+7= 4+6= 2+8= 1+9=

1010 10 10 10 5101010 ~1070 10 10 1O 10 /#1010 10 W10

. +6=10 . +6=10  +5=10 2+ =10
 +7=10  +5=10 _ +2=10 . +8=10
6+ =10 2+ =10 . +3=10 4+ =10
4+ =10 +9=10 1+ =10  +6=10

1010 10 10 10 5101010 ~1070 10 10 1O 10 /#1010 10 W10

 +3+4=10 8+ +1=10 6+3+ =10 6+1+3=_
8+1+1=_  4+2+ =10 5+2+3=_  4+4+2=
7+ +1=10 2+2+_ =10 1+3+6=__ __ +5+3=10
24  +1=10 8+1+ =10 _ +1+2=10 _ +1+3=10
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Chiffres qui Somment a 10 (H) Solutions

1+9=
10
2+8=
10
2+8=
10
3+7=
10
1010 10 20
____+6=10
4
__ +7=10
3
6+ =10
4
4+ =10
6
1010 10 20
__+3+4=10
3
8+1+1=_
10
7+  +1=10
2
2+  +1=10
7

Remplissez les espaces vides.

3+7=

10
6+4=

10
7+3=

10
4+6=

10
10 - /101010

___+6=10
4
__ +5=10
5
2+ =10
8
__+9=10
1
10 - 101010

8+ +1=10
1

4+2+ =10
4

242+ =10

S5+5=
10
1 +9=
10
9+1=
10
2+8=
10

___+5=10

5

_ +2=10

8

~_ +3=10

7

1+ =10

9

6+3+

1

5+2+3=

10

1+3+6=__

10

_ +1+2=10

7

2+8=
10
3+7=
10
5+5=
10
1+9=
10

10701010 1O 10 721010 10 W10

2+ =10
8

__+8=10
2

4+ =10
6

__+6=10
4

10701010 1O 10 721010 10 W10

6+1+3=__
10

4+4+2=_
10

_ +5+3=10
2

__ +1+3=10
6
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